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37. Sample answer: When two angles
form a lnear pai, then their
noncommon sides form a staight
angle, which measures 180, When
the sum ofthe measures of two.
‘angles is 180, then the angles are

,.Amﬁm;



[image: image3.png]40. Sample answer: The types of angles formed depends on how
the streets intersect. There may be as few as two angles or
many more If there are more than two lines intersecting. Types

of angles Include linear pairs, vertical angles, adjacent angles.
See students’ work.




